

Party Expenses Return for the 2023 General Election

DECLARATION

1.	Party name: Freedoms New Zealand					
	Party secretary name:					
	Jennifer Marshall					
2.	ELECTION EXPENSES LIMIT FOR T	HE PARTY				
	Did you contest the party vote? Answer YES or NO	YES	'YES' = \$1,388,000	\$ 1,388,000.00		
	Number of electorate candidates for the party	0	Number \$32,600	\$ 0.00		
	Expenditure limit (incl GST)		Total	\$ 1,388,000.00		
3.	TOTAL PARTY ELECTION EXPENSE	s				
	Part A: Party advertisements promo	oted solely b	by the party	\$ 173,885.29		
	Part B: Party advertisements share or other parties	d with cand	idates	\$ 7,464.63		
	Part C: Authorised party advertisem third parties	nents promo	ted by	\$ 0.00		
		Tota	al (A + B + C)	\$ 181,349.92		
١.	PARTY BROADCASTING ALLOCATION	ON				
	TOTAL ALLOCATION TO THE PARTY	′ :		\$95,042		
	WRITE ' NIL ' if the party did not receive allocation under the Broadcasting Ad		asting	-3 - 1 -		
j.	TOTAL PARTY ALLOCATION EXPEN	SES				
	Part D: Party only allocation expens	es		\$ 95,019.45		
	Part E: Party and candidate shared	\$ 0.00				
	Part F: Candidate only allocation ex	\$ 0.00				
		Tota	al (D + E + F)	\$ 95,019.45		
•	I declare that to the best of my knowle 2061 and 2061A of the Electoral Act 19 election expenses and the party's allo election, and any allocation received I under section 80A of the Broadcasting	93, is an acc cation expen has only bee	curate record of nses for the 202	the party's 23 general		
	SIGNATURE AND A LA OUT		DATE: DD / MM /	YYYY 13/2024		

COMPLETING THE RETURN

You can complete the return electronically or by hand. If you complete the form electronically each part will be automatically added up for you, as well as the totals on this page of the return. For information on types of electronic

For information on types of electronic signatures that the Commission accepts, please see the How to Complete Your Party Expenses Return Form for the General Election instruction sheet.

CHECKLIST

Steps 1, 2 and 4 completed on this page



Parts A to C (step 3) completed



Parts D to F (step 5) completed if party received a broadcasting allocation



Party secretary signed and dated the return



All relevant supporting documentation supplied to auditor



Auditor stamped or intialled a copy of the return to keep for own records



own records

-	7

Auditor's report enclosed



Representation letter enclosed, if used



The return must be received by the Electoral Commission by **5pm**, **13 March 2024** (within 90 working days of election day). A party secretary who fails to comply with these requirements commits an offence and may be referred to the Police.

The return can be filed:

- by email to legal@elections.govt.nz
- by upload to the Party Portal
- by delivery to Level 4, 34-42
 Manners Street, Wellington 6011

Reminder: the returns are open to public inspection and will be published on www.elections.nz.

Further information on party expenses is available in the **Party Portal**

SAVE AS

PRINT

PART A: PARTY ADVERTISEMENTS SOLELY PROMOTING THE PARTY

A party's election expenses during the regulated period (14 July to 13 October) must not exceed their expense limit. It is an offence to spend more than the limit.

A party contesting the party vote can spend up to \$1,388,000 (including GST) and \$32,600 (including GST) for each electorate candidate the party stands at the election.

Party election expenses are the costs of advertising in any medium that:

- may reasonably be regarded as encouraging or persuading voters to vote, or not to vote, for a party (whether or not the name of the party is stated), and
- are published, or continue to be published, during the regulated period for the general election, and
- are promoted by the party or with the party's authority.

Election expenses include:

- the costs incurred in the preparation, design, composition, printing, postage and publication of the advertisement, and
- the reasonable market value of any material used or applied towards the advertisement provided to the party for free or below reasonable market value.

Instructions on how to Complete Part A:

In this part you should record all election expenses (including GST) incurred in relation to party advertisements published, or that continued to be published, during the regulated period for the general election (14 July to 13 October 2023) solely promoting the party.

For advertisements published both before and during the regulated period you should apportion the costs so that only a fair proportion of the expenses are attributed to being incurred during the regulated period. Only record the amount attributable to the regulated period in the return.

Disclose the total amount (including GST) incurred on election advertisements published during the regulated period even if payment for the advertising was made outside of the regulated period.

WRITE 'NIL' IF YOU HAVE NO EXPENSES TO DECLARE HERE:

TOTAL FOR PART A

\$ 173,885.29

Item description Provide details of the type of advertisement, name of advertiser or supplier, volume, duration and size as appropriate	Value \$0.00 (ine GST)
EXAMPLE: Display Billboards Ltd: 13/09/2023 - 13/10/2023: 3 x Billboards: 2000mm x 1000mm	\$1,200
Panda Inspire: 25/07/23 - 13/10/23: 1,340 x National Hoardings: 2400mm x 1200mm	\$ 48,981.92
Printz Apparel: 14/07/23 - 13/10/23: 10 x Logos on Jackets	\$ 200.00
Boost Promotions: 08/09/23 - 13/10/23: 200 x Car Flags	\$ 3,313.44
Boost Promotions: 14/07/23 - 13/10/23: 300 x Freedoms NZ Pens	\$ 782.00
Boost Promotions: 21/07/23 - 13/10/23: 1,000 x Freedoms NZ Button Badges - 90mm	\$ 2,260.27
Boost Promotions: 15/09/23 - 13/10/23: 100 x Freedoms NZ Lapel Badges - 60mm x 40mm	\$ 469.72
3A Print: 14/07/23 - 13/10/23: 24 x Corflute Sign Rocker Signs: 1200mm x 600mm	\$ 1,048.80
Panda Inspire: 29/08/13 - 13/10/23: 20 x Hoardings for Rock the Vote: 2400mm x 1200mm	\$ 971.70
Panda Inspire: 21/08/23 - 13/10/23: 500 x Freedoms NZ Corflute Sign Rockers: 1200mm x 900mm	\$ 3,841.00
Mo & Co: 14/07/23 - 13/10/23: Photography & Video Editing	\$ 4,272.25
Black Swan Productions: 14/07/23 - 13/10/23: Video Content, Social Media Marketing & Management	\$ 21,959.25
Speedy Signs: 14/07/23 - 13/10/23: 100 x Corflute Signs: 1200mm x 600mm	\$ 4,025.00
Speedy Signs: 14/07/23 - 13/10/23: 4 x Pull-Up Banners: 1150mm x 2030mm	\$ 3,496.00
Speedy Signs: 14/07/23 - 13/10/23: 2 x Tear Drop Flags: 3.3 metres	\$ 777.40
Logohouse: 14/07/23 - 13/10/23: 20 x Campaign Promotional T-Shirts	\$ 620.00
Panda Inspire: 14/07/23 - 13/10/23: 2 x Freedoms NZ Car Magnets	\$ 347.30
FH Media: 27/09/23 - 13/10/23: Social Media Content	\$ 450.00
FH Media: 05/10/23 - 13/10/23: Social Media Content	\$ 450.00
JR Print Team: 28/08/23 - 13/10/23: 2,000 x A5 Freedoms NZ Fliers	\$ 386.00

Item description Provide details of the type of advertisement, name of advertiser or supplier, volume, duration and size as appropriate	Value \$0.00 (inc GST)
Promo Lab: 25/09/23 - 13/10/23: 250 x Freedoms NZ Latex Balloons: 30cm	\$ 307.63
3A Print: 21/09/23 - 13/10/23: 100 x Convoy/March Signs: 600 x 450mm	\$ 632.50
3A Print: 21/09/23 - 13/10/23: 140 x Convoy/March Signs: 900 x 600mm	\$ 1,127.00
3A Print: 21/09/23 - 13/10/23: 10 x Convoy/March Signs: 2400 x 1200mm	\$ 287.50
Benefitz: 26/09/23 - 13/10/23: 1 x Leave our Kids Alone Banner: 7000 x 900mm	\$ 414.00
The Warehouse: 06/08/23 - 13/10/23: 500 x A5 Time to Stop Crime Fliers	\$ 400.00
Copies Etcetera: 14/08/23 - 13/10/23: 200 x A5 Time to Stop Crime Fliers	\$ 136.85
3A Print: 02/08/23 - 13/10/23: 300 x Time to Stop Crime Policy booklets: A4 x 20 pages	\$ 1,345.50
3A Print: 07/08/23 - 13/10/23: 100 x Time to Stop Crime Policy booklets: A4 x 20 pages	\$ 448.50
3A Print: 09/08/23 - 13/10/23: 100 x Time to Stop Crime Policy booklets: A4 x 20 pages	\$ 448.50
3A Print: 21/08/23 - 13/10/23: 200 x Time to Stop Crime Policy booklets: A4 x 20 pages	\$ 690.00
Hey Orca: 15/08/23 - 15/09/23: Social Management Platform Subscription	\$ 1,153.43
Hey Orca: 15/09/23 - 15/10/23: Social Management Platform Subscription	\$ 752.83
Panda Inspire: 17/08/23 - 13/10/23: 1,000 x A5 Freedoms NZ Promotional Fliers	\$ 448.50
Panda Inspire: 29/08/23 - 13/10/23: 4,000 x A5 Freedoms NZ Promotional Fliers	\$ 1,353.55
3A Print: 26/09/23 - 13/10/23: 5,000 x A4 Family & Faith Policy Fliers	\$ 1,460.50
3A Print: 26/09/23 - 13/10/23: 5,000 x A5 Freedoms NZ Promotional Fliers	\$ 828.00
3A Print: 29/09/23 - 13/10/23: 10,000 x A4 Family & Faith Policy Fliers	\$ 2,380.50
3A Print: 18/08/23 - 13/10/23: 1,000 x A4 Freedoms NZ Promotional Fliers	\$ 310.50
NZME: 02/08/23 - 04/08/23: 1 x NZ Herald Ad for Time to Stop Crime Policy: Full Page Ad	\$ 9,405.85
Creativity Plus: 25/09/23 - 13/10/23: Corflute Signs	\$ 770.50
Benefitz: 14/07/23 - 13/10/23: Freedoms NZ Fabric Wall: 6 x 2.3m	\$ 3,335.00
Westgate Printing: 05/09/23 - 13/10/23, 100 x Freedoms NZ T-Shirts	\$ 2,472.85
GloBox Digital Billboards, 14/08/23 - 13/10/23, Digital Billboards, 3x6m, 6x3m, 7x4m, 8x16m, 9x3m	\$ 19,250.22
Westgate Printing: 15/08/23 - 13/10/23, 200 x Freedoms NZ T-Shirts	\$ 4,559.69
Kathmandu: 14/07/23 - 13/10/23, 34 x Freedoms NZ Jackets	\$ 12,319.92
Briscoes: 25/09/23 - 13/10/23, 11 x Freedoms NZ Umbrellas	\$ 500.42
The Warehouse: 04/09/23 - 13/10/23, 23 x Tracksuit Tops, 21 x Tracksuit Pants	\$ 666.00
Speedy Signs: 08/08/23 - 13/10/23, Mobile LED Screen Trailer, 3.2m x 1.8m	\$ 7,027.00

PART B: PARTY ADVERTISEMENTS SHARED WITH CANDIDATES OR OTHER PARTIES

In this part you should record all election expenses incurred in relation to election advertisements published, or that continued to be published, during the regulated period for the general election (14 July to 13 October 2023) promoting the party and one or more candidates or parties.

Apportionment is permitted between the party and a candidate(s) or other party(ies). Where an expense item has been apportioned between the party and candidate(s) or party(ies), record the total cost of the advertisement and the share apportioned to the party based on coverage. You should ensure there is a consistent description and approach to apportionment in each return of election expenses. Record the name of the candidate(s) or other party(ies) featured in the advertising in the item description.

For advertisements published both before and during the regulated period you should apportion the costs so that only a fair proportion of the expenses are attributed to being incurred during the regulated period. Only record the amount attributable to the regulated period in the return.

Disclose the total amount incurred on election advertisements published during the regulated period even if payment for the advertising was made outside of the regulated period.

Election expenses include:

- the costs incurred in the preparation, design, composition, printing, postage and publication of the advertisement, and
- the reasonable market value of any material used or applied towards the advertisement provided to the party for free or below reasonable market value.

WRITE 'NIL' IF YOU HAVE NO EXPENSES TO DECLARE HERE:

TOTAL FOR PART B

\$ 7,464.63

	IOIAE POR PART B		\$ 1,404.03	
Item description Provide details of the type of advertisement, name of advertiser or supplier, volume, duration and size as appropriate as well as name of candidate(s) and any other party featured in the advertising	Total cost (inc GST) Including preparation, design, composition, printing, publishing and postage	% apportioned as party expense	Value \$0.00 (inc GST)	
EXAMPLE: Display Billboards Ltd: 13/09/2023 - 13/10/2023: 3 x billboards: 2000mm x 1000mm, Candidates: M Brown, Growth Party & T Smith, Neutral Party	\$6,000	20%	\$1,200	
3A Print Otahuhu, 10 x Corflute Billboards, 2.4m x 1.2m, 30th August - 13th October 2023, Candidate: Ata Tuhakaraina (Vision New Zealand)	\$ 287.50	10%%	\$ 28.75	
3A Print Otahuhu, 50 x Corflute Billboards, 900mm x 600mm, 30th August - 13th October 2023, Candidate: Ata Tuhakaraina (Vision New Zealand)	\$ 316.25	10%	\$31.63	
Copy Direct, 1000 x A5 Fliers, 1st September - 13th Oxtober 2023, Candidate: Ata Tuhakaraina (Vision New Zealand)	\$ 403.75	10%	\$ 40.38	
Hawkes Bay Today, Newspaper Article/Ad 30th September, Candidate: Ata Tuhakaraina (Vision New Zealand)	\$ 684.25	10%	\$ 68.43	
Panda Print, 10 x Billboards, 2.4m x 1.2m, 27th June - 13th October 2023, Candidate: Bernadette Soares (Vision New Zealand)	\$ 377.20	10%	\$ 37.72	
Panda Print, 30 x Billboards, 900mm x 600mm, 21st August - 13th October 2023, Candidate: Bernadette Soares (Vision New Zealand)	\$ 276.00	10%	\$ 27.60	
Copy Direct, 1000 x A5 Fliers, 22nd August - 13th October 2023, Candidate: Bernadette Soares (Vision New Zealand)	\$ 342.13	10%	\$ 34.21	
Globox Hamilton, 12 x Digital Billboard Ads, 5.76m x 2.88m, 18th September - 13th October 2023, Candidate: Bernadette Soares (Vision New Zealand)	\$ 1,493.44	10%	\$ 149.34	
Speedy Signs Kingsland, 3 x Mobile Digital Billboards, 10th September, 16th September, 23rd September	\$ 214.20	10%	\$ 21.42	
Panda Inspire, 30 x Corflute Billboards, 2.4m x 1.2m, 27th June - 13th October 2023, Candidate: Caine Warren (Vision New Zealand)	\$ 1,131.60	10%	\$ 113.16	
Panda Inspire, 30 x Corflute Billboards, 900mm x 600mm, 27th June - 13th October 2023, Candidate: Caine Warren (Vision New Zealand)	\$ 276.00	10%	\$ 27.60	
Copy Direct, 1000 x A5 Fliers, 9th August - 13th October 2023, Candidate: Caine Warren (Vision New Zealand)	\$ 163.19	10%	\$ 16.32	
NZME, Online ad, 4th -13th October 2023, Candidate: Caine Warren (Vision New Zealand)	\$ 2,121.35	10%	\$ 212.14	
Speedy Signs Kinglands, 9 x Mobile Billboard Ads, 28th August - 30th September 2023, Candidate: Caine Warren (Vision New Zealand)	\$ 687.32	10%	\$ 68.73	
3A Print Otahuhu, 10 x Corflute Billboards, 2.4m x 1.2m, 16th August - 13th October 2023, Candidate: Charles Hunia (Vision New Zealand)	\$ 241.50	10%	\$ 24.15	
3A Print Otahuhu, 30 x Billboards, 900mm x 600mm, 21st August - 13th October 2023, Candidate: Charles Hunia (Vision New Zealand)	\$ 189.75	10%	\$ 18.98	
Copies Etcetara, 2000 x Fliers, 25th August - 13th October 2023	\$ 563.01	10%	\$ 56.30	

Item description Provide details of the type of advertisement, name of advertiser or supplier, volume, duration and size as appropriate as well as name of candidate(s) and any other party featured in the advertising	Total cost (inc GST) Including preparation, design, composition, printing, publishing and postage	% apportioned as party expense	Value \$0.00 (inc GST)
3A Print Otahuhu, 10 x Corflute Billboards, 2.4m x 1.2m, 10th August - 13th October 2023, Candidate: Daryl Raison (Vision New Zealand)	\$ 245.33	10%	\$ 24.53
3A Print Otahuhu, 30 x Corflute Billboards, 900mm x 600mm, 21st August - 13th October 2023, Candidate: Daryl Raison (Vision New Zealand)	\$ 189.75	10%	\$ 18.98
Copy Direct, 1000 x A5 Fliers, 16th July - 13th October 2023, Candidate: Daryl Raison (Vision New Zealand)	\$ 163.19	10%	\$ 16.32
Copy Direct, 1000 x A5 Fliers, 16th July - 13th October 2023, Candidate: Daryl Raison (Vision New Zealand)	\$ 148.93	10%	\$ 14.89
Virtual Print Hamilton, 20 x Corflute Billboards, 2.4m x 1.2m, 10th August - 13th October 2023, Candidate: Alailima Fuiavailili (Vision New Zealand)	\$ 1,380.00	10%	\$ 138.00
Panda Inspire, 30 x Corflute Billboards, 900mm x 600mm, 27th June - 13th October 2023, Candidate: Alailima Fuiavailili (Vision New Zealand)	\$ 276.00	10%	\$ 27.60
Copy Direct, 1000 x A5 Fliers, 9th August - 13th October 2023, Candidate: Alailima Fuiavailili (Vision New Zealand)	\$ 163.19	10%	\$ 16.32
Panda Inspire, 50 x Corflute Billboards, 2.4m x 1.2m, 27th June - 13th October 2023, Candidate: Hannah Tamaki (Vision New Zealand)	\$ 1,886.00	10%	\$ 188.60
Panda Inspire, 30 x Corflute Billboards, 900mm x 600mm, 27th June - 13th October 2023, Candidate: Hannah Tamaki (Vision New Zealand)	\$ 276.00	10%	\$ 27.60
Copy Direct, 2000 x A5 Fliers, 17th August - 13th October 2023, Candidate: Hannah Tamaki (Vision New Zealand)	\$ 644.00	10%	\$ 64.40
Globox Hamilton, 37 x Digital Billboard Ads, 768m x 1536, 576m x 288m, 672m x 384m, 6th October - 13th October 2023, Candidate: Hannah Tamaki (Vision NZ)	\$ 7,864.04	10%	\$ 786.40
Speedy Signs Kingsland, 1 x Mobile Digital Billboard LED Screen, 6th October - 12th October 2023, Candidate: Hannah Tamaki (Vision New Zealand)	\$ 1,500.00	10%	\$ 150.00
NZME, Online ad, 4th October - 13th October 2023, Candidate: Hannah Tamaki (Vision New Zealand)	\$ 6,503.00	10%	\$ 650.30
3A Print Otahuhu, 10 x Corflute Billboards, 2.4m x 1.2m, 16th August - 13th October 2023, Candidate: Heker Robertson (Vision New Zealand)	\$ 245.53	10%	\$ 24.55
3A Print Otahuhu, 30 x Corflute Billboards, 900mm x 600mm, 21st August - 13th October 2023, Candidate: Heker Robertson (Vision New Zealand)	\$ 189.75	10%	\$ 18.98
Copy Direct, 1000 x A5 Fliers, 9th August - 13th October 2023, Candidate: Heker Robertson (Vision New Zealand)	\$ 163.19	10%	\$ 16.32
Copy Direct, 1000 x A5 Fliers, 10th July - 13th October 2023, Candidate: Heker Robertson (Vision New Zealand)	\$ 148.93	10%	\$ 14.89
Copy Direct, 3000 x A5 Fliers, 15th September, Candidate: Judith Terrill (Vision New Zealand)	\$ 496.58	50%	\$ 248.29
Viatual Print Hamilton, 10 x Corflute Billboards, 2.4m x 1.2m, 10th August - 13th October 2023, Candidate: Karl Mokaraka (Vision New Zealand)	\$ 600.00	10%	\$ 60.00
Panda Print, 30 x Corflute Billboards 900mm x 600mm, 27th June - 13th October 2023, Candidate: Karl Mokaraka (Vision New Zealand)	\$ 276.00	10%	\$ 27.60
3A Print Otahuhu, 20 x Corflute Billboards, 2.4m x 1.2m, 21st August - 13th October 2023, Candidate: Karl Mokaraka (Vision New Zealand)	\$ 483.00	10%	\$ 48.30
Copy Direct, 1000x A5 Fliers, 9th August - 13th October 2023, Candidate: Karl Mokaraka (Vision New Zealand)	\$ 163.19	10%	\$ 16.32
Panda Inspire, 10 x Corflute Billboards, 2.4m x 1.2m, 29th July - 13th October 2023, Candidate: Kathy Harvey (Vision New Zealand)	\$ 377.20	10%	\$ 37.72
Panda Inspire, 30 x Corflute Billboards, 900mm x 600mm, 29th July - 13th October 2023, Candidate: Kathy Harvey (Vision New Zealand)	\$ 276.00	10%	\$ 27.60
Copy Direct, 1000 x A5 Fliers, 9th August - 13th October 2023, Candidate: Kathy Harvey (Vision New Zealand)	\$ 163.19	10%	\$ 16.32
Copy Direct, 1000 x A5 Fliers, 16th July - 13th October 2023, Candidate: Kathy Harvey (Vision New Zealand)	\$ 148.93	10%	\$ 14.89
3A Print Otahuhu, 10 x Corflute Billboards, 900mmx 600mm, 9th August - 13th October 2023, Candidate: Kathy Harvey (Vision New Zealand)	\$ 120.75	10%	\$ 12.08
3A Print Otahuhu, 5 x Corflute Billboards, 2.4m x 1.2m, 21st August - 13th October 2023, Candidate: Kathy Harvey (Vision New Zealand)	\$ 143.75	10%	\$ 14.38



Item description Provide details of the type of advertisement, name of advertiser or supplier, volume, duration and size as appropriate as well as name of candidate(s) and any other party featured in the advertising	Total cost (inc GST) Including preparation, design, composition, printing, publishing and postage	% apportioned as party expense	Value \$0.00 (inc GST)
3A Print Otahuhu, 10 x Corflute Billboards, 2.4m x 1.2m, 21st August - 13th October 2023, Candidate: Leon Samuels (Vision New Zealand)	\$ 241.50	10%	\$ 24.15
Panda Inspire, 30 x Corflute Billboards, 900mm x 600mm, 21st August - 13th October 2023, Candidate: Leon Samuels (Vision New Zealand)	\$ 276.00	10%	\$ 27.60
Copy Direct, 1000 x A5 Fliers, 10th July - 13th October 2023, Candidate: Leon Samuels (Vision New Zealand)	\$ 163.19	10%	\$ 16.32
GloBox Hamilton, 1 x Digital Billboard, 3m x 6m, 14th August - 13th October 2023, Candidate: Leon Samuels (Vision New Zealand)	\$ 3,381.56	10%	\$ 338.16
3A Print Otahuhu, 10 x Corflute Billboards, 2.4m x 1.2m, 21st August - 13th October 2023, Candidate: Lois Dornan (Vision New Zealand)	\$ 234.83	10%	\$ 23.48
Panda Inspire, 30 x Corflute Billboards, 900mm x 600mm, 27th August - 13th October 2023, Candidate: Lois Dornan (Vision New Zealand)	\$ 276.00	10%	\$ 27.60
Copy Direct, 1000 x A5 Fliers, 9th August - 13th October 2023, Candidate: Lois Dornan (Vision New Zealand)	\$ 163.19	10%	\$ 16.32
Copy Direct, 1000 x A5 Fliers, 10th July - 13th October 2023, Candidate: Lois Dornan (Vision New Zealand)	\$ 149.33	10%	\$ 14.93
Panda Inspire, 10 x Corflute Billboards, 2.4m x 1.2m, 27th June - 13th October 2023, Candidate: Mark Donaldson (Vision New Zealand)	\$ 377.20	10%	\$37.72
Panda Inspire, 30 x Corflute Billboards, 900mm x 600mm, 27th June - 13th October 2023, Candidate: Mark Donaldson (Vision New Zealand)	\$ 276.00	10%	\$ 27.60
Copy Direct, 1000 x A5 Fliers, 9th August - 13th October 2023, Candidate: Mark Donaldson (Vision New Zealand)	\$ 165.41	10%	\$ 16.54
Panda Inspire, 20 x Corflute Billboards, 2.4m x 1.2m, 27th June - 13th October 2023, Candidate: Mark Donaldson (Vision New Zealand)	\$ 575.00	10%	\$ 57.50
Glo Box, 5 x Digital Billboard Ads, 6.72m x 3.84m, 4th September - 13th October 2023, Candidate: Mark Donaldson (Vision New Zealand)	\$ 708.44	10%	\$ 70.84
CMYK Signs & Digital Printing, 500 x A5 Fliers, 24th August - 13th October 2023, Candidate: Mark Donaldson (Vision New Zealand)	\$ 88.25	10%	\$ 8.83
Copybooth Design & Print, 2000 x DLE Fliers, 15th August - 13th October 2023, Candidate: Mark Donaldson (Vision New Zealand)	\$ 221.84	10%	\$ 22.18
Speedy Signs Kingsland, Vehicle Graphics for LVD, 20th September - 13th October 2023, Candidate: Mark Donaldson (Vision New Zealand)	\$ 4,585.05	10%	\$ 458.51
Global Digital Billboards, 1 x Ad, 1st October - 13th October 2023, Candidate: Mark Donaldson (Vision New Zealand)	\$ 575.00	10%	\$ 57.50
Copybooth, 2000 x DLE Fliers, 25th August - 13th October 2023, Candidate: Mark Donaldson (Vision New Zealand)	\$ 220.84	10%	\$ 22.08
Speedy Signs Kingsland, 1 x mobile digital billboard LED Screen, 2 August - 2 September 2023, Candidate: Mark Donaldson (Vision New Zealand)	\$ 1,000.00	10%	\$ 100.00
Panda Inspire, 10 x Corflute Billboards, 2.4m x 1.2m, 16th August - 13th October 2023, Candidate: Max Rangitutia (Vision New Zealand)	\$ 377.20	10%	\$ 37.72
Panda Inspire, 30 x Corflute Billboards, 900mm x 600mm, 21st August - 13th October 2023, Candidate: Max Rangitutia (Vision New Zealand)	\$ 276.00	10%	\$ 27.60
Copy Direct, 1000 x A5 Fliers, 9th August - 13th October, Candidate: Max Rangitutia (Vision New Zealand)	\$ 163.19	10%	\$ 16.32
Copy Direct, 1000 x A5 Fliers, 10th July - 13th October, Candidate: Max Rangitutia (Vision New Zealand)	\$ 148.93	10%	\$ 14.89
3A Print Otahuhu, 10 x Corflute Billboards, 2.4m x 1.2m, 16th August - 13th October 2023, Candidate: Meg Lim (Vision New Zealand)	\$ 245.33	10%	\$ 24.53
3A Print Otahuhu, 30 x Corflute Billboards, 900mm x 600mm, 21st August - 13th October 2023, Candidate: Meg Lim (Vision New Zealand)	\$ 189.75	10%	\$ 18.98
Copy Direct, 1000 x A5 Fliers, 9th August - 13th October 2023, Candidate: Meg Lim (Vision New Zealand)	\$ 163.19	10%	\$ 16.32
Glo Box, 9 x Digital Billboard Ads, 3m x 6m, 21st August - 13th October 2023, Candidate: Meg Lim (Vision New Zealand)	\$ 1,297.54	10%	\$ 129.75
3A Print Otahuhu, 10 x Corflute Billboards, 16th August - 13th October 2023, Candidate: Merania Roa (Vision New Zealand)	\$ 245.33	10%	\$ 24.53



Caprolate, NewTania Prior, Vision New Zealand) S16.	Item description Provide details of the type of advertisement, name of advertiser or supplier, volume, duration and size as appropriate as well as name of candidate(s) and any other party featured in the advertising	Total cost (inc GST) Including preparation, design, composition, printing, publishing and postage	% apportioned as party expense	Value \$0.00 (inc GST)
Merania Roa (Vision New Zealand) \$1.80.00 10% \$1.80.00 Virtual Pint Hamilton, 30 x Corliute Billboards, 2-4m x 1 2m, 21st August - 13th Cotober 2023, Candidate: Michael Ngahuka (Vision New Zealand) \$483.00 10% \$480.00 3A Print Otahuhu, 20 x Corliute Billboards, 2-4m x 1 2m, 21st August - 13th October 2023, Candidate: Michael Ngahuka (Vision New Zealand) \$483.00 10% \$480.00 3A Print Otahuhu, 10 x Corliute Billboards, 90mm x 600mm, 21st August - 13th October 2023, Candidate: Michael Ngahuka (Vision New Zealand) \$189.75 10% \$18 3A Print Otahuhu, 10 x Corliute Billboards, 2-4m x 1 2m, 15th August - 13th October 2023, Candidate: Naomi Maclean (Vision New Zealand) \$181.72 10% \$16 3A Print Otahuhu, 10 x Corliute Billboards, 90mm x 600mm, 21st August - 13th October 2023, Candidate: Naomi Maclean (Vision New Zealand) \$140.55 10% \$16 Copy Direct, 1000 x A5 Pilers, 9th August - 13th October 2023, Candidate: Naomi Maclean (Vision New Zealand) \$120.79 10% \$12 3A Print Otahuhu, 10 x Corliute Billboards, 90mm x 60mm, 21st August - 13th October 2023, Candidate: Paris Winiata (Vision New Zealand) \$181.72 10% \$18 3A Print Otahuhu, 10 x Corliute Billboards, 90mm x 60mm, 21st August - 13th October 2023, Candidate: Paris Winiata (Vision New Zealand) \$120.87 10% \$18 </td <td></td> <td>\$ 189.75</td> <td>10%</td> <td>\$ 18.98</td>		\$ 189.75	10%	\$ 18.98
October 2023, Candidate: Michael Ngahuka (Vision New Zealand) 3 A Print Otahuhu, 20 x Corflute Billboards, 2 4m x 1.2m, 21st August - 13th October 2023, Candidate: Michael Ngahuka (Vision New Zealand) 3 A Print Otahuhu, 30 x Sillboards, 900mm x 600mm, 21st August - 13th October 2023, Candidate: Michael Ngahuka (Vision New Zealand) 3 A Print Otahuhu, 10 x Corflute Billboards, 90mm x 600mm, 21st August - 13th October 2023, Candidate: Nation Maclean (Vision New Zealand) 3 A Print Otahuhu, 10 x Corflute Billboards, 90mm x 600mm, 21st August - 13th October 2023, Candidate: Nation Maclean (Vision New Zealand) 3 A Print Otahuhu, 30 x Corflute Billboards, 90mm x 600mm, 21st August - 13th October 2023, Candidate: Nation Maclean (Vision New Zealand) Copy Direct, 1000 x A5 Filers, 9th August - 13th October 2023, Candidate: Nation Maclean (Vision New Zealand) 3 A Print Otahuhu, 10 x Corflute Billboards, 2.4m x 1.2m, 16th August - 13th October 2023, Candidate: Nation Maclean (Vision New Zealand) 3 A Print Otahuhu, 10 x Corflute Billboards, 2.4m x 1.2m, 16th August - 13th October 2023, Candidate: Paris Winiata (Vision New Zealand) 3 A Print Otahuhu, 30 x Corflute Billboards, 90mm x 600mm, 21st August - 13th Cotober 2023, Candidate: Paris Winiata (Vision New Zealand) 3 A Print Otahuhu, 30 x Corflute Billboards, 90mm x 600mm, 21st August - 13th Cotober 2023, Candidate: Paris Winiata (Vision New Zealand) Copy Direct, 1000 x A5 Filers, 9th August - 13th October 2023, Candidate: Paris Winiata (Vision New Zealand) 3 A Print Otahuhu, 30 x Corflute Billboards, 2.4m x 1.2m, 16th August - 13th October 2023, Candidate: Paris Winiata (Vision New Zealand) 3 A Print Otahuhu, 30 x Corflute Billboards, 2.4m x 1.2m, 16th August - 13th October 2023, Candidate: Paris Winiata (Vision New Zealand) 3 A Print Otahuhu, 30 x Corflute Billboards, 90mm x 600mm, 21st August - 13th October 2023, Candidate: Paris Winiata (Vision New Zealand) 3 A Print Otahuhu, 30 x Corflute Billboards, 90mm x 600mm, 21st August - 13th October 2023, Candida		\$ 163.19	10%	\$ 16.32
October 2023, Candidate: Michael Ngahuka (Vision New Zealand) 3A Print Otahuhu, 30 x Billboards, 900mm x 600mm, 21st August - 13th October 2023, Candidate: Michael Ngahuka (Vision New Zealand) 3A Print Otahuhu, 10 x Corflute Billboards, 24m x 1.2m, 15th August - 13th October 2023, Candidate: Naomi Maclean (Vision New Zealand) 3A Print Otahuhu, 30 x Corflute Billboards, 900mm x 600mm, 21st August - 13th October 2023, Candidate: Naomi Maclean (Vision New Zealand) 3A Print Otahuhu, 30 x Corflute Billboards, 900mm x 600mm, 21st August - 13th October 2023, Candidate: Naomi Maclean (Vision New Zealand) Copy Direct, 1000 x A5 Filers, 9th August - 13th October 2023, Candidate: Naomi Maclean (Vision New Zealand) 3A Print Otahuhu, 10 x Corflute Billboards, 24m x 1.2m, 15th August - 13th October 2023, Candidate: Paris Winiata (Vision New Zealand) 3A Print Otahuhu, 30 x Corflute Billboards, 24m x 1.2m, 15th August - 13th October 2023, Candidate: Paris Winiata (Vision New Zealand) 3A Print Otahuhu, 30 x Corflute Billboards, 900mm x 600mm, 21st August - 13th October 2023, Candidate: Paris Winiata (Vision New Zealand) 3A Print Otahuhu, 30 x Corflute Billboards, 900mm x 600mm, 21st August - 13th October 2023, Candidate: Paris Winiata (Vision New Zealand) Copy Direct, 1000 x A5 Filers, 9th August - 13th October 2023, Candidate: Paris Winiata (Vision New Zealand) 3A Print Otahuhu, 10 x Corflute Billboards, 2.4m x 1.2m, 16th August - 13th October 2023, Candidate: Paris Winiata (Vision New Zealand) 3A Print Otahuhu, 10 x Corflute Billboards, 2.4m x 1.2m, 16th August - 13th October 2023, Candidate: Paris Winiata (Vision New Zealand) 3A Print Otahuhu, 10 x Corflute Billboards, 2.4m x 1.2m, 16th August - 13th October 2023, Candidate: Paris Winiata (Vision New Zealand) 3A Print Otahuhu, 10 x Corflute Billboards, 2.4m x 1.2m, 15th August - 13th October 2023, Candidate: Paris Winiata (Vision New Zealand) 3A Print Otahuhu, 10 x Corflute Billboards, 2.4m x 1.2m, 15th August - 13th October 2023, Candidate: Paris Winiata (Vis	Virtual Print Hamilton, 30 x Corflute Billboards, 2.4m x 1.2m, 10th August - 13th October 2023, Candidate: Michael Ngahuka (Vision New Zealand)	\$ 1,800.00	10%	\$ 180.00
2023, Candidate: Michael Ngahuka (Vision New Zealand) 3 Print Otahuhu, 10 x Corflute Billboards, 2.4m x 1.2m, 16th August - 13th Cotober 2023, Candidate: Naomi Maclean (Vision New Zealand) 3 Print Otahuhu, 10 x Corflute Billboards, 900mm x 600mm, 21st August - 13th Cotober 2023, Candidate: Naomi Maclean (Vision New Zealand) 3 Print Otahuhu, 30 x Corflute Billboards, 900mm x 600mm, 21st August - 13th Cotober 2023, Candidate: Naomi Maclean (Vision New Zealand) 3 Print Otahuhu, 10 x Corflute Billboards, 2.4m x 1.2m, 16th August - 13th Cotober 2023, Candidate: Naomi Maclean (Vision New Zealand) 3 Print Otahuhu, 10 x Corflute Billboards, 2.4m x 1.2m, 16th August - 13th Cotober 2023, Candidate: Paris Winiata (Vision New Zealand) 3 Print Otahuhu, 30 x Corflute Billboards, 900mm x 600mm, 21st August - 13th Cotober 2023, Candidate: Paris Winiata (Vision New Zealand) 3 Print Otahuhu, 30 x Corflute Billboards, 900mm x 600mm, 21st August - 13th Cotober 2023, Candidate: Paris Winiata (Vision New Zealand) 4 Print Otahuhu, 10 x Corflute Billboards, 2.4m x 1.2m, 16th August - 13th Cotober 2023, Candidate: Paris Winiata (Vision New Zealand) 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120.87 5 120		\$ 483.00	10%	\$ 48.30
Section Sect		\$ 189.75	10%	\$ 18.98
Cotober 2023, Candidate: Naomi Maclean (Vision New Zealand) Copy Direct, 1000 x A5 Filers, 9th August - 13th October 2023, Candidate: Naomi Maclean (Vision New Zealand) 3A Print Otahuhu, 10 x Corflute Billboards, 2.4m x 1.2m, 16th August - 13th October 2023, Candidate: Paris Winitata (Vision New Zealand) 3A Print Otahuhu, 30 x Corflute Billboards, 900mm x 600mm, 21st August - 13th October 2023, Candidate: Paris Winitata (Vision New Zealand) Copy Direct, 1000 x A5 Filers, 9th August - 13th October 2023, Candidate: Paris Winitata (Vision New Zealand) Copy Direct, 1000 x A5 Filers, 10th July - 13th October 2023, Candidate: Paris Winitata (Vision New Zealand) AP Print Otahuhu, 10 x Corflute Billboards, 2.4m x 1.2m, 16th August - 13th October 2023, Candidate: Paris Winitata (Vision New Zealand) AP Print Otahuhu, 10 x Corflute Billboards, 2.4m x 1.2m, 16th August - 13th October 2023, Candidate: Paris Winitata (Vision New Zealand) AP Print Otahuhu, 10 x Corflute Billboards, 2.4m x 1.2m, 16th August - 13th October 2023, Candidate: Paris Winitata (Vision New Zealand) AP Print Otahuhu, 30 x Corflute Billboards, 900mm x 600mm, 21st August - 13th October 2023, Candidate: Patrick Lim (Vision New Zealand) Copy Direct, 1000 x A5 Filers, 9th September - 13th October 2023, Candidate: Patrick Lim (Vision New Zealand) Copy Direct, 1000 x A5 Filers, 9th September - 13th October 2023, Candidate: Patrick Lim (Vision New Zealand) Panda Print, 10 x Billboards, 2.4m x 1.2m, 19th August - 13th October 2023, Sandidate: Patrick Lim (Vision New Zealand) Panda Print, 10 x Billboards, 900mm x 600mm, 21st August - 13th October 2023, Sandidate: Phineas Mann (Vision New Zealand) Panda Print, 10 x Billboards, 900mm x 600mm, 21st August - 13th October 2023, Sandidate: Phineas Mann (Vision New Zealand) Panda Print, 10 x Billboards, 900mm x 600mm, 21st August - 13th October 2023, Sandidate: Phineas Mann (Vision New Zealand) Panda Print, 10 x Billboards, 900mm x 600mm, 21st August - 13th October 2023, Sandidate: Phineas Mann (Vision		\$ 181.72	10%	\$ 18.17
Maclean (Vision New Zealand) 3A Print Otahuhu, 10 x Corflute Biliboards, 2.4m x 1.2m, 16th August - 13th October 2023, Candidate: Paris Winiata (Vision New Zealand) 3A Print Otahuhu, 30 x Corflute Biliboards, 900mm x 600mm, 21st August - 13th October 2023, Candidate: Paris Winiata (Vision New Zealand) Copy Direct, 1000 x A5 Filers, 9th August - 13th October 2023, Candidate: Paris Winiata (Vision New Zealand) Copy Direct, 1000 x A5 Filers, 10th July - 13th October 2023, Candidate: Paris Winiata (Vision New Zealand) Copy Direct, 1000 x A5 Filers, 10th July - 13th October 2023, Candidate: Paris Winiata (Vision New Zealand) A Print Otahuhu, 10 x Corflute Biliboards, 2.4m x 1.2m, 16th August - 13th October 2023, Candidate: Patrick Lim (Vision New Zealand) 3A Print Otahuhu, 30 x Corflute Biliboards, 900mm x 600mm, 21st August - 13th October 2023, Candidate: Patrick Lim (Vision New Zealand) 3A Print Otahuhu 2023, Candidate: Patrick Lim (Vision New Zealand) 3A Print Otahuhu 2023, Candidate: Patrick Lim (Vision New Zealand) 5 165, 41 10% \$ 169, 41 10% \$ 169, 41 10% \$ 169, 41 10% \$ 160, 41 10% \$ 160, 41 10% \$ 160, 41 10% \$ 170, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10% \$ 180, 41 10		\$ 140.55	10%	\$ 14.06
October 2023, Candidate: Paris Winitata (Vision New Zealand) 3161.72 10% \$16.72 3A Print Otahuhu, 30 x Corflute Biliboards, 900mm x 600mm, 21st August - 13th October 2023, Candidate: Paris Winitata (Vision New Zealand) \$296.11 10% \$25 Copy Direct, 1000 x A5 Filers, 9th August - 13th October 2023, Candidate: Paris Winitata (Vision New Zealand) \$120.87 10% \$12 Copy Direct, 1000 x A5 Filers, 10th July - 13th October 2023, Candidate: Paris Winitata (Vision New Zealand) \$148.88 10% \$14 3A Print Otahuhu, 10 x Corflute Biliboards, 2.4m x 1.2m, 16th August - 13th October 2023, Candidate: Patrick Lim (Vision New Zealand) \$245.55 10% \$24 3A Print Otahuhu, 30 x Corflute Biliboards, 900mm x 600mm, 21st August - 13th October 2023, Candidate: Patrick Lim (Vision New Zealand) \$189.75 10% \$18 Copy Direct, 1000 x A5 Filers, 9th September - 13th October 2023, Candidate: \$165.41 10% \$16 Copy Direct, 1000 x A5 Filers, 9th September - 13th October 2023, Candidate: Patrick Lim (Vision New Zealand) \$165.41 10% \$16 Panda Print, 10 x Biliboards, 2.4m x 1.2m, 19th August - 13th October 2023, Candidate: Phineas Mann (Vision New Zealand) \$27 10% \$37 Panda Print, 30 x Biliboards, 900mm x 600mm, 21st August - 13th October 2023, Candidate: Phineas Mann (Vision New Zea		\$ 120.79	10%	\$ 12.08
Copy Direct, 1000 x A5 Fliers, 10th July - 13th October 2023, Candidate: Patrick Lim (Vision New Zealand) S 245.55 10% S 120.87 S 148.88 10% S 148.88 S 148.88 10% S 148.88		\$ 181.72	10%	\$ 18.17
Winiata (Vision New Zealand) Copy Direct, 1000 x AS Filers, 10th July - 13th October 2023, Candidate: Paris Winiata (Vision New Zealand) 3A Print Otahuhu, 10 x Corflute Billboards, 2.4m x 1.2m, 16th August - 13th October 2023, Candidate: Patrick Lim (Vision New Zealand) 3A Print Otahuhu, 30 x Corflute Billboards, 900mm x 600mm, 21st August - 13th Otahuhu 2023, Candidate: Patrick Lim (Vision New Zealand) 3A Print Otahuhu, 30 x Corflute Billboards, 900mm x 600mm, 21st August - 13th Otahuhu 2023, Candidate: Patrick Lim (Vision New Zealand) Copy Direct, 1000 x AS Filers, 9th September - 13th October 2023, Candidate: \$165.41 10% \$140 Copy Direct, 1000 x AS Filers, 10th July - 13th October 2023, Candidate: Patrick Lim (Vision New Zealand) Panda Print, 10 x Billboards, 2.4m x 1.2m, 19th August - 13th October 2023, \$377.20 10% \$377.20 10% \$377.20 10% \$377.20 10% \$276.00 10% \$276.00 Copy Direct, 1000 x AS Filers, 9th August - 13th October 2023, Candidate: Phineas Mann (Vision New Zealand) Copy Direct, 1000 x AS Filers, 9th August - 13th October 2023, Candidate: \$163.19 10% \$169.00 \$169.00 Copy Direct, 1000 x AS Filers, 9th August - 13th October 2023, Candidate: \$163.19 10% \$169.00 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170 \$170		\$ 296.11	10%	\$ 29.61
Winiata (Vision New Zealand) 3A Print Otahuhu, 10 x Corflute Billboards, 2.4m x 1.2m, 16th August - 13th October 2023, Candidate: Patrick Lim (Vision New Zealand) 3A Print Otahuhu, 30 x Corflute Billboards, 9.00mm x 600mm, 21st August - 13th Otahuhu 2023, Candidate: Patrick Lim (Vision New Zealand) Copy Direct, 1000 x A5 Fliers, 9th September - 13th October 2023, Candidate: \$165.41 Copy Direct, 1000 x A5 Fliers, 10th July - 13th October 2023, Candidate: Patrick Lim (Vision New Zealand) Copy Direct, 1000 x A5 Fliers, 10th July - 13th October 2023, Candidate: Patrick Lim (Vision New Zealand) Copy Direct, 1000 x A5 Fliers, 10th July - 13th October 2023, Candidate: Patrick Lim (Vision New Zealand) Sada Print, 10 x Billboards, 2.4m x 1.2m, 19th August - 13th October 2023, Sada Print, 10 x Billboards, 900mm x 600mm, 21st August - 13th October 2023, Candidate: Phineas Mann (Vision New Zealand) Copy Direct, 1000 x A5 Fliers, 9th August - 13th October 2023, Candidate: Phineas Mann (Vision New Zealand) Copy Direct, 1000 x A5 Fliers, 9th August - 13th October 2023, Candidate: Shineas Mann (Vision New Zealand) Copy Direct, 1000 x A5 Fliers, 10th July - 13th October 2023, Candidate: Phineas Mann (Vision New Zealand) Copy Direct, 1000 x A5 Fliers, 10th July - 13th October 2023, Candidate: Phineas Mann (Vision New Zealand) Sadan (Vision New Zealand) Sada (Vision New Zealand)		\$ 120.87	10%	\$ 12.09
October 2023, Candidate: Patrick Lim (Vision New Zealand) 3A Print Otahuhu, 30 x Corflute Billboards, 900mm x 600mm, 21st August - 13th Otahuhu 2023, Candidate: Patrick Lim (Vision New Zealand) Copy Direct, 1000 x A5 Fliers, 9th September - 13th October 2023, Candidate: \$165.41 Copy Direct, 1000 x A5 Fliers, 10th July - 13th October 2023, Candidate: Patrick Lim (Vision New Zealand) Copy Direct, 1000 x A5 Fliers, 10th July - 13th October 2023, Candidate: Patrick Lim (Vision New Zealand) Panda Print, 10 x Billboards, 2.4m x 1.2m, 19th August - 13th October 2023, Candidate: Phineas Mann (Vision New Zealand) Panda Print, 30 x Billboards, 900mm x 600mm, 21st August - 13th October 2023, Candidate: Phineas Mann (Vision New Zealand) Copy Direct, 1000 x A5 Fliers, 9th August - 13th October 2023, Candidate: \$163.19 Copy Direct, 1000 x A5 Fliers, 9th August - 13th October 2023, Candidate: \$163.19 Copy Direct, 1000 x A5 Fliers, 10th July - 13th October 2023, Candidate: Phineas Mann (Vision New Zealand) Sopp Direct, 1000 x A5 Fliers, 10th July - 13th October 2023, Candidate: Phineas Mann (Vision New Zealand) Sopp Direct, 1000 x A5 Fliers, 10th July - 13th October 2023, Candidate: Phineas Sound (Vision New Zealand) Sopp Direct, 1000 x A5 Fliers, 10th July - 13th October 2023, Candidate: Phineas Sound (Vision New Zealand) Sopp Direct, 1000 x A5 Fliers, 10th July - 13th October 2023, Candidate: Phineas Sound (Vision New Zealand) Sopp Direct, 1000 x A5 Fliers, 10th July - 13th October 2023, Candidate: Phineas Sound Sound (Vision New Zealand) Sopp Direct, 1000 x A5 Fliers, 10th July - 13th October 2023, Candidate: Phineas Sound Sou		\$ 148.88	10%	\$ 14.89
Otahuhu 2023, Candidate: Patrick Lim (Vision New Zealand) Copy Direct, 1000 x A5 Fliers, 9th September - 13th October 2023, Candidate: \$165.41 Copy Direct, 1000 x A5 Fliers, 10th July - 13th October 2023, Candidate: Patrick Lim (Vision New Zealand) Copy Direct, 1000 x A5 Fliers, 10th July - 13th October 2023, Candidate: Patrick Lim (Vision New Zealand) Panda Print, 10 x Billboards, 2.4m x 1.2m, 19th August - 13th October 2023, Candidate: Phineas Mann (Vision New Zealand) Panda Print, 30 x Billboards, 900mm x 600mm, 21st August - 13th October 2023, Candidate: Phineas Mann (Vision New Zealand) Copy Direct, 1000 x A5 Fliers, 9th August - 13th October 2023, Candidate: Phineas Mann (Vision New Zealand) Copy Direct, 1000 x A5 Fliers, 9th August - 13th October 2023, Candidate: Phineas Mann (Vision New Zealand) Copy Direct, 1000 x A5 Fliers, 10th July - 13th October 2023, Candidate: Phineas Mann (Vision New Zealand) Globox Hamilton, 5 x Digital Billboard ads, 576m x 288m, Candidate: Phineas Mann (Vision New Zealand) Speedy Signs Kingland, 1 x Mobile Digital Billboard ad, Candidate: Phineas Mann (Vision New Zealand) Panda Inspire, 10 x Corflute Billboards, 2.4m x 1.2m, 27th June - 13th October		\$ 245.55	10%	\$ 24.56
Patrick Lim (Vision New Zealand) Copy Direct, 1000 x A5 Fliers, 10th July - 13th October 2023, Candidate: Patrick Lim (Vision New Zealand) Panda Print, 10 x Billboards, 2.4m x 1.2m, 19th August - 13th October 2023, Candidate: Phineas Mann (Vision New Zealand) Panda Print, 30 x Billboards, 900mm x 600mm, 21st August - 13th October 2023, Candidate: Phineas Mann (Vision New Zealand) Copy Direct, 1000 x A5 Fliers, 9th August - 13th October 2023, Candidate: Phineas Mann (Vision New Zealand) Copy Direct, 1000 x A5 Fliers, 9th August - 13th October 2023, Candidate: Phineas Mann (Vision New Zealand) Copy Direct, 1000 x A5 Fliers, 10th July - 13th October 2023, Candidate: Phineas \$149.30 Copy Direct, 1000 x A5 Fliers, 10th July - 13th October 2023, Candidate: Phineas \$149.30 Globox Hamilton, 5 x Digital Billboard ads, 576m x 288m, Candidate: Phineas \$708.44 10% \$708.44 10% \$708.44 10% \$708.44 10% \$708.44 Panda Inspire, 10 x Corflute Billboards, 2.4m x 1.2m, 27th June - 13th October		\$ 189.75	10%	\$ 18.98
Lim (Vision New Zealand) Panda Print, 10 x Billboards, 2.4m x 1.2m, 19th August - 13th October 2023, Candidate: Phineas Mann (Vision New Zealand) Panda Print, 30 x Billboards, 900mm x 600mm, 21st August - 13th October 2023, Candidate: Phineas Mann (Vision New Zealand) Copy Direct, 1000 x A5 Fliers, 9th August - 13th October 2023, Candidate: Phineas Mann (Vision New Zealand) Copy Direct, 1000 x A5 Fliers, 9th August - 13th October 2023, Candidate: Phineas Mann (Vision New Zealand) Copy Direct, 1000 x A5 Fliers, 10th July - 13th October 2023, Candidate: Phineas Mann (Vision New Zealand) Speedy Signs Kingland, 1 x Mobile Digital Billboard ad, Candidate: Phineas Mann (Vision New Zealand) Speedy Signs Kingland, 1 x Mobile Digital Billboard ad, Candidate: Phineas Mann (Vision New Zealand) Panda Inspire, 10 x Corflute Billboards, 2.4m x 1.2m, 27th June - 13th October Sara 20		\$ 165.41	10%	\$ 16.54
Candidate: Phineas Mann (Vision New Zealand) Panda Print, 30 x Billboards, 900mm x 600mm, 21st August - 13th October 2023, Candidate: Phineas Mann (Vision New Zealand) Copy Direct, 1000 x A5 Fliers, 9th August - 13th October 2023, Candidate: Phineas Mann (Vision New Zealand) Copy Direct, 1000 x A5 Fliers, 10th July - 13th October 2023, Candidate: Phineas Mann (Vision New Zealand) Copy Direct, 1000 x A5 Fliers, 10th July - 13th October 2023, Candidate: Phineas \$149.30 Globox Hamilton, 5 x Digital Billboard ads, 576m x 288m, Candidate: Phineas \$708.44 Globox Hamilton, 5 x Digital Billboard ads, 576m x 288m, Candidate: Phineas \$708.44 Speedy Signs Kingland, 1 x Mobile Digital Billboard ad, Candidate: Phineas Mann (Vision New Zealand) Panda Inspire, 10 x Corflute Billboards, 2.4m x 1.2m, 27th June - 13th October		\$ 149.33	10%	\$ 14.93
Candidate: Phineas Mann (Vision New Zealand) Copy Direct, 1000 x A5 Fliers, 9th August - 13th October 2023, Candidate: Phineas Mann (Vision New Zealand) Copy Direct, 1000 x A5 Fliers, 10th July - 13th October 2023, Candidate: Phineas Mann (Vision New Zealand) Globox Hamilton, 5 x Digital Billboard ads, 576m x 288m, Candidate: Phineas Mann (Vision New Zealand) Speedy Signs Kingland, 1 x Mobile Digital Billboard ad, Candidate: Phineas Mann (Vision New Zealand) Speedy Signs Kingland, 1 x Mobile Digital Billboard ad, Candidate: Phineas Mann (Vision New Zealand) Panda Inspire, 10 x Corflute Billboards, 2.4m x 1.2m, 27th June - 13th October S 277 20		\$ 377.20	10%	\$ 37.72
Phineas Mann (Vision New Zealand) Copy Direct, 1000 x A5 Fliers, 10th July - 13th October 2023, Candidate: Phineas Mann (Vision New Zealand) Globox Hamilton, 5 x Digital Billboard ads, 576m x 288m, Candidate: Phineas Mann (Vision New Zealand) Speedy Signs Kingland, 1 x Mobile Digital Billboard ad, Candidate: Phineas Mann (Vision New Zealand) \$ 708.44 10% \$ 708.44 10% \$ 708.44 10% \$ 708.44 10% \$ 708.44 10% \$ 708.44 10% \$ 708.44 10% \$ 708.44	Panda Print, 30 x Billboards, 900mm x 600mm, 21st August - 13th October 2023, Candidate: Phineas Mann (Vision New Zealand)	\$ 276.00	10%	\$ 27.60
Mann (Vision New Zealand) Globox Hamilton, 5 x Digital Billboard ads, 576m x 288m, Candidate: Phineas Mann (Vision New Zealand) Speedy Signs Kingland, 1 x Mobile Digital Billboard ad, Candidate: Phineas Mann (Vision New Zealand) \$708.44 10% \$70 \$70 \$70 \$70 \$70 \$70 \$70 \$	Copy Direct, 1000 x A5 Fliers, 9th August - 13th October 2023, Candidate: Phineas Mann (Vision New Zealand)	\$ 163.19	10%	\$ 16.32
Mann (Vision New Zealand) Speedy Signs Kingland, 1 x Mobile Digital Billboard ad, Candidate: Phineas Mann (Vision New Zealand) \$70.47 \$70.49 \$71.42 10% \$70.49 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40 \$70.40		\$ 149.30	10%	\$ 14.93
(Vision New Zealand) Panda Inspire, 10 x Corflute Billboards, 2.4m x 1.2m, 27th June - 13th October \$277.20		\$ 708.44	10%	\$ 70.84
Panda Inspire, 10 x Corflute Billboards, 2.4m x 1.2m, 27th June - 13th October \$377.20 10% \$37		\$ 71.42	10%	\$ 7.14
	Panda Inspire, 10 x Corflute Billboards, 2.4m x 1.2m, 27th June - 13th October 2023, Candidate: Rudi Du Plooy (Vision New Zealand)	\$ 377.20	10%	\$ 37.72
Panda Inspire, 30 x Corflute Billboards, 900mm x 600mm, 27th June - 13th October 2023, Candidate: Rudi Du Plooy (Vision New Zealand) \$276.00		\$ 276.00	10%	\$ 27.60
Copy Direct, 1000 x A5 Fliers, 22nd August - 13th October 2023, Candidate: Rudi Du Plooy (Vision New Zealand) \$342.13		\$ 342.13	10%	\$ 34.21
Western Community Newspaper, Newspaper Ad, 9mm x 13mm, October issue \$550.00 10% \$55.		\$ 550.00	10%	\$ 55.00
Globox Hamilton, 20 x Digital Billboard ads, 600 x 240mm, 720m x 2.4m, 3.45m x 4.2m, 864m x 2.83m, 21st August - 13th October 2023, Candidate: Rudi Du Plooy \$4,403.44		\$ 4,403.44	10%	\$ 440.34
Panda Inspire, 10 x Corflute Billboards, 2.4m x 1.2m, 27th June - 13th October 2023, Candidate: Vijay Sudhamalla (Vision New Zealand) \$ 377.20 10%		\$ 377.20	10%	\$ 37.72



Item description Provide details of the type of advertisement, name of advertiser or supplier, volume, duration and size as appropriate as well as name of candidate(s) and any other party featured in the advertising	Total cost (inc GST) Including preparation, design, composition, printing, publishing and postage	% apportioned as party expense	Value \$0.00 (inc GST)
Panda Inspire, 30 x Corflute Billboards, 900mm x 600mm, 27th June - 13th October 2023, Candidate: Vijay Sudhamalla (Vision New Zealand)	\$ 276.00	10%	\$ 27.60
Copy Direct, 1000 x A5 Fliers, 9th August - 13th October 2023, Candidate: Vijay Sudhamalla (Vision New Zealand)	\$ 163.19	10%	\$ 16.32
Copy Direct, 1000 x A5 Fliers, 10th July - 13th October 2023, Candidate: Vijay Sudhamalla (Vision New Zealand)	\$ 148.93	10%	\$ 14.89
Go Graphics, 6000 x A5 Fliers, 29th September - 13th October 2023, Candidate: Vijay Sudhamalla (Vision New Zealand)	\$ 745.52	10%	\$ 74.55
Breeze Publications Ltd, Mini Quarter Advertisements, 4th September, 5th October, 13th October 2023, Candidate: Vijay Sudhamalla (Vision New Zealand)	\$ 690.00	10%	\$ 69.00
Printing.com, 5,000 x Fliers, DLE Size, 18th July - 13th October 2023, Candidate: Paul Davie (Rock the Vote)	\$ 340.40	5%	\$ 17.02
Printing.com, 2 x Pull-Up Banners, 850 x 2285mm, 18th July - 13th October 2023, Other Party: Rock the Vote	\$ 461.41	10%	\$ 46.14
Printing.com, 8 x Corflute ROV Signs, 600 x 900mm, 18th July - 13th October 2023, Other Party: Rock the Vote	\$ 624.77	5%	\$31.24
Printing.com, 2 x Corflute Signs, 600 x 900mm, 19th July - 13th October 2023, Candidate: Paul Davie (Rock the Vote)	\$ 179.34	5%	\$ 8.97
Printing.com, 20 x Billboard Signs, 800 x 1200mm, 15th August - 13th October 2023, Candidate: Paul Davie (Rock the Vote)	\$ 1,987.37	5%	\$ 99.37
Printfly, 200 x Letters to shops, A4 size, 18th August - 13th October 2023, Other Party: Rock the Vote	\$ 103.50	25%	\$ 25.88
Printing.com, 2 x Corflute Signs, 600 x 900mm, 24th August - 13th October 2023, Candidate: Paul Davie (Rock the Vote)	\$ 144.84	5%	\$ 7.24
Printing.com, 5,000 x fliers, DLE Size, 4th September - 13th October 2023, Candidate: John Alcock (Rock the Vote)	\$ 340.40	5%	\$ 17.02
Printing.com, 5,000 x fliers, DLE Size, 4th September - 13th October 2023, Candidate: Paul Davie (Rock the Vote)	\$ 340.40	5%	\$ 17.02
Printing.com, 6 x Corflute Signs, 800 x 1200mm, 11th September - 13th October 2023, Candidate: Paul Davie (Rock the Vote)	\$ 618.19	5%	\$ 30.91
Printing.com, 5,000 x fliers, DLE Size, 13th September - 13th October 2023, Candidate: Eric Chuah (Rock the Vote)	\$ 340.40	5%	\$ 17.02
Printing.com, 1 x Corflute Banner, A1 Size, 21st September - 13th October 2023, Candidate: Michael Clarkson (Rock the Vote)	\$ 97.75	5%	\$ 4.89
Printing.com, 5,000 x fliers, DLE Size, 21st September - 13th October 2023, Candidate: Michael Clarkson (Rock the Vote)	\$ 340.40	5%	\$ 17.02
Printfly, 250 x letters, A4 size, 26th September - 13th October 2023, Other Party: Rock the Vote	\$ 86.25	25%	\$ 21.56
Panda Inspire: 20 x Billboard Signs, 2400 x 1200mm, 29th August - 13th October 2023, Candidate: Paul Davie (Rock the Vote)	\$ 871.70	10%	\$ 87.17
Panda Inspire: 10 x Billboard Signs, 2400 x 1200mm, 11th September - 13th October 2023, Candidate: Eric Chuah (Rock the Vote)	\$ 435.85	10%	\$ 43.59
Panda Inspire: 10 x Billboard Signs, 2400 x 1200mm, 11th September - 13th October 2023, Candidate: John Alcock (Rock the Vote)	\$ 435.85	10%	\$ 43.59
Panda Inspire: 30th August - 13th October 2023: 30 x Billboards, 900mm x 600mm, Candidate: Donna Pokere-Phillips	\$ 276.00	10%	\$ 27.60
Panda Inspire: 30th August - 13th October 2023: 10 x Billboards, 2400 x 1200mm, Candidate: Donna Pokere-Phillips	\$ 377.20	10%	\$ 37.72
			\$ 0.00
			\$ 0.00
			\$ 0.00
			\$ 0.00



PART C: AUTHORISED PARTY ADVERTISEMENTS PROMOTED BY A THIRD PARTY PROMOTER

In this part you should record all election expenses incurred in relation to party advertisements promoted by a third party promoter with your written authorisation and published, or that continued to be published, during the regulated period for the general election (14 July to 13 October 2023).

Expenses cannot be apportioned with third party promoters. If you authorised someone else to publish advertising encouraging people to vote for the party, the cost of the advertising will be a party election expense and the same costs will also be an election expense of the third party. Record the name of the third party promoter in the item description.

For advertisements published both before and during the regulated period you should apportion the costs so that only a fair proportion of the expenses are

attributed to being incurred during the regulated period. Only record the amount attributable to the regulated period in the return.

Disclose the total amount incurred on election advertisements published during the regulated period even if payment for the advertising was made outside of the regulated period.

Election expenses include:

- the costs incurred in the preparation, design, composition, printing, postage and publication of the advertisement, and
- the reasonable market value of any material used or applied towards the advertisement provided to the party for free or below reasonable market value.

WRITE 'NIL' IF YOU HAVE NO EXPENSES TO DECLARE HERE:	NIL
TOTAL FOR PART C	\$ 0.00
Item description Provide a brief description of the type of advertisement, name of advertiser or supplier, volume, duration and size as appropriate as well as the name of the third party which promoted the advertising	Value \$0.00 (inc GST)
EXAMPLE: Display Advertising Ltd: 13/9/2023 - 13/10/2023; 3 x Billboards: 2000mm x 1000mm Worker's United	\$1,200



PART D: PARTY ONLY BROADCASTING ALLOCATION EXPENSES

You must complete Parts D to F if the party received an allocation of money for broadcasting pursuant to Part 6 of the Broadcasting Act 1989 to produce or place advertising on TV, radio or the internet for the 2023 general election.

In Part D you should record details of all expenses incurred using the broadcasting allocation promoting the party or attacking another party or candidate.

WRITE 'NIL' IF YOU HAVE NO EXPENSES TO DECLARE HERE:

TOTAL FOR PART D

\$ 95,019.45

Supplier's name and street address		Description of allocation expenses		
This should be the production company, media buyer or broadcaster on the invoice provided to to Electoral Commission for payment of the account the commission for payment of the account to the account to the commission for payment of the account to the account to the commission for payment of the account to the commission to the commission to the	he ar dates	List the total production costs, television placement, radio placement and internet placement costs for each supplier separately	Value \$0.00 (inc GST)	
EXAMPLE: Make Believe Television 84 Shortland Street	1st and 10th of October 2023	Production costs	\$10,000	
Auckland 6000		13 September – 12 October 2023 TV placement costs on Channel A and Channel B	\$62,450	
		1 October – 13 October 2023 Radio placement costs on Radio X and Y	\$11,450	
		20 - 30 September 2023 Social Media promotional posts	\$300	
The Platform Manners Street	14th October 2023	5 September - 13 October 2023 Internet placement costs on The Platform - on-air	\$ 2,328.75	
Wellington 6142		5 September - 13 October 2023 Internet placement costs on The Platform - APP advertising	\$ 230.00	
		5 September - 13 October 2023 Internet placement costs on The Platform - Website	\$10,000 \$62,450 \$11,450	
Rhema Media Inc Symonds Street	30th September & 31st October 2023	Production Costs - Radio advertisement	\$ 402.50	
Auckland 1150	,	13 September - 13 October 2023 TV Placement costs on Channel Shine TV \$13,80		
		11 September - 13 October 2023 Radio Placement costs on Life FM, Rhema, Star Network	\$ 24,852.48	
Mediaworks 17 Hargreaves Street St Marys Bay Auckland 1011	27th October 2023	11 September - 13 October 2023 Radio Placement costs on The Breeze, The Edge, Humm	\$ 39,298.09	
NZME 2 Graham Steet Auckland 1010	30th September 2023 & 31st October 2023	6 September to 13 October 2023 Radio Placement costs on The Hits, ZM, Newstalk ZB	\$ 13,676.38	

PART E: PARTY AND CANDIDATE SHARED BROADCASTING ALLOCATION EXPENSES

In Part E record allocation expenses used to produce or place advertising on TV, radio or the internet featuring the party and one or more candidates.

PROVIDE the following information below:

- Supplier's name and address: This should be the media buyer or broadcaster on the invoice provided to the Electoral Commission for payment of the account
- Invoice date or dates

- Description of allocation of expenses: List the total production costs,
 TV placement, radio placement and internet placement costs for each supplier separately and the names of the candidates
- Value \$0.00 inc GST
- % apportioned to the party
- $\cdot\,\,$ % apportioned to the candidate

WRITE 'NIL' IF YOU HAVE NO EXPENSES TO DECLARE HERE:

NIL

TOTAL FOR PART E

\$ 0.00

Supplier's name and street address	Invoice date or dates	Description of allocation of expenses	Value \$0.00 (inc GST)	% apportioned to party	% apportioned to candidate
EXAMPLE: Make Believe Television	1st and 10th of October 2023	Production costs	\$10,000	10%	90%
84 Shortland Street Auckland 6000		13 September – 12 October 2023 TV placement costs on Channel A and Channel B, condidate John Smith	\$62,450	10%	90%
		1 - 13 October 2023 Radio placement costs on Radio X and Y	\$11,450	20%	80%
		20 - 30 September 2023 Social Media promotional posts	\$300	50%	50%

PART F: CANDIDATE ONLY BROADCASTING ALLOCATION EXPENSES

In Part F record the party's broadcasting allocation used to produce or place a candidate election advertisement on TV, radio or the internet.

PROVIDE the following information below:

- Supplier's name and address: This should be the media buyer or broadcaster on the invoice provided to the Electoral Commission for payment of the account
- Invoice date or dates
- Description of allocation of expenses: List the total production costs, TV placement, radio placement and internet placement costs for each supplier separately
- Candidate name
- Value \$0.00 inc GST

Advertising paid for using the broadcasting allocation is excluded from the definition of party election expense. However, it is not excluded from the definition of candidate expense. If you use the allocation to produce a candidate election advertisement on TV, radio or online, the costs should also be disclosed in the candidate's return as an election expense and a donation from the party.

WRITE 'NIL' IF YOU HAVE NO EXPENSES TO DECLARE HERE:

NIL

TOTAL FOR PART F

\$ 0.00

Supplier's name and street address	Invoice date or dates	Description of allocation of expenses	Candidate name	Value \$0.00 (inc GST)
EXAMPLE: Make Believe Television 84 Shortland Street Auckland 6000	1st and 10th of October 2023	Production cost	M Brown	\$10,000
		13 September – 12 October 2023 TV placement costs on Channel A and Channel B	T Smith	\$62,450
		1 – 13 October 2023 Radio plecement costs on Radio X and Y	M Brown	\$11,450
		20 - 30 September 2023 Social Media promotional posts	T Smith	\$300



INDEPENDENT AUDITOR'S REPORT

To the Party Secretary of Freedoms New Zealand

Qualified Opinion

We have undertaken a reasonable assurance engagement of Freedoms New Zealand's (the "Party) compliance, in all material respects, with the requirement of Section 2061 and 206L of the Electoral Act 1993 (the "Act) as evaluated against the Party's Election Expenses Return (the Return) for the period of 14 July 2023 to 13 October 2023.

In our opinion, except of the matter described in the section "Basis for Qualified Opinion", in all material respects, the election expenditure as presented in the Return did not exceed the maximum amount prescribed by section 206C of the Electoral Act.

Basis for Qualified Opinion

We were unable to obtain sufficient appropriate evidence about the component parties' election expenditure due to the fact that we are engaged as the auditor of the Freedoms New Zealand, however we have not engaged as the auditor of the component parties: Vision NZ and Rock the Vote NZ. Therefore, our scope was limited in respect of assessing the completeness of the election expenditure paid by the component parties.

Party Secretary's Responsibilities

The Party Secretary is responsible for:

- a) the preparation of the Return in accordance with the appropriate provisions of Section 206 of the Electoral Act 1993;
- b) identification of the risks that threaten the requirement of the Act identified above being met and controls which will mitigate those risks and monitor ongoing compliance;
- c) providing us with the access to all information of which the Party Secretary is aware that is relevant to the preparation of the Return, additional information that we may request from the Party for the purpose of our compliance and unrestricted access to persons within the Party from whom we determine it necessary to obtain audit evidence.

Out independence and Quality Control

We have complied with the relevant ethical requirements relating to assurance engagements, which include independence and other requirements founded on fundamental principles of integrity, objectivity, professional competence and care, confidentiality and professional behaviour. In accordance with the Professional and Ethical Standard 3 (Amended) issued by the New Zealand Audit and Assurance Standards Board, we maintain a comprehensive system of quality controls including documented policies and procedures regarding compliance with ethical requirements, professional standards and applicable legal and regulatory requirements.

We are engaged to provide compliance services on the Party's Donations and Loan Return. Other than these services, we have no relationship with, or interests in Freedoms New Zealand.

Delivering Clarity and Confidence



Auditor's Responsibilities

Our responsibility is to express an opinion on the Party's compliance, in all material respects, with the requirements of section 2061 and section 206L of the Electoral Act 1993, for the regulated period of 14 July 2023 to 13 October 2023. Our engagement has been conducted in accordance with SAE 3100 (Revised) *Compliance Engagements* issued by the New Zealand Auditing and Assurance Standards Board.

An assurance engagement to report to the Party's compliance with the requirements of the Act involves performing procedures to obtain evidence about the compliance activity and controls implemented to meet the requirements of the Act. The procedures selected depend on our judgement, including the identification and assessment of risks of material non-compliance with the requirements of the Act as evaluated against the Return.

Because of inherent limitations of an assurance engagement, together with the internal control structure it is possible that fraud, error, or non-compliance with compliance requirements may occur and not be detected.

A reasonable assurance engagement throughout the specified period does not provide assurance on whether compliance with the requirement of the Act will continue in the future.

Who we Report to

This report is made solely to the Party Secretary. Our audit work has been undertaken so that we might state to the Party Secretary those matters we are required to state to them in an auditor's report and for no other purpose. To the fullest extent permitted by law, we do not accept or assume responsibility to anyone other than the Party Secretary, for our audit work and for this opinion we have formed.

Blackmore, Virtue and Owens AUCKLAND

Blackmore Viitue & Owers

20 March 2024



20th March 2024

Alex Houghton BVO Audit PO Box 9579 Newmarket Auckland 1149

Dear Alex

Letter of representation for party return of expenses for the 2023 General Election

This representation letter is furnished in connection with the return of party election expenses and broadcasting allocation expenses for the 2023 general election (the return) by *Freedoms New Zealand* (the Party) made in accordance with sections 206I and 206IA of the Electoral Act 1993 (the Act) which has been subject to an assurance engagement and reported on by you in accordance with sections 206L and 206LA of the Act.

I understand that your assurance engagement was conducted in accordance with the relevant provisions of the Act and the applicable Auditing and Assurance Standards issued by the New Zealand Auditing and Assurance Standards Board.

I confirm and take responsibility for the following representations after taking all reasonable steps to assure myself of them:

- 1 The return has been prepared in accordance with the relevant provisions of the Act.
- I am responsible for establishing and maintaining a system of internal control designed to provide reasonable assurance as to the integrity and reliability of the return. I have done this, and all explanations or demonstrations of this to you have been complete and accurate.
- All records, documents and accounts (records) have been kept by the Party (including subsidiary entities) and made available to you, and these materials will be retained in accordance with the requirements of the Act.
- 4 I have disclosed to you:
 - 4.1 any material transactions not disclosed in the records;



- 4.2 the existence of all relevant agreements or activities relating to the Party's members of the previous Parliament, electorate candidates, subsidiary or closely connected political entities, third party promoters (whether registered or not), and other political parties (whether registered or not) or their electorate candidates;
- 4.3 any alleged, suspected or proven illegal activity under the Act or other legislation potentially relevant to the return or instances of non-compliance with applicable requirements;
- 4.4 any outstanding disputed claims, matters with authorities, or planned or continuing litigation; and
- 4.5 the fact of, and results from, any assessment made by me that considered whether the records of the Party may be materially misstated or incomplete for any reason; any design deficiencies in the compliance system and instances where that system has not operated as described.
- I have sought, received, and hold in the Party's records confirmation from, or on behalf of, any Party members of the previous Parliament that all party advertisements published, or election expenses incurred by those members of Parliament have been disclosed to me, with adequate supporting records, for inclusion in this return.
- The return contains the total returnable expenses of the Party for the 2023 general election whether paid or incurred before, during, or after the regulated period. The return includes all expenses, including apportioned expenses, and irrespective of the source of funds or entity paying for the activities concerned, and irrespective of whether or not an advertisement contained a promoter statement.
- Parts A to C of the return's contents have been determined by considering, in the following sequence, these questions and the relevant provisions of the Act:
 - 7.1 Was the advertising undertaken by the party secretary, or with their authority? [definition of **election expenses**, section 206(1)] (If no, advertising is not an election expense).
 - 7.2 If yes did the advertising constitute **publishing**? [definition of **publish**, section 3D; definition of **election expenses**, section 206(1)] (If no, advertising is not an election expense).
 - 7.3 If yes was that the publishing of a **party advertisement**? That is, did the advertisement encourage or persuade, or appear to encourage or persuade, voters to vote for the party, or against another party, or both? [definition of **party advertisement**, section 3(1); definition of **election expenses**, section 206(1)] (If no, advertising is not a party election expense).
 - 7.4 If yes was the advertising undertaken (or deemed to be undertaken) during the regulated period (from 14 July to 13 October 2023)? [definition of **regulated period**, section 3B; definition of **election expenses**, section 206(1)] (If no, advertising is not an election expense).
 - 7.5 If yes:
 - 7.5.1 What expense was incurred in undertaking the advertising? [definition of advertising expenses, section 3E; definition of election expenses, section 206(1)]

- 7.5.2 What cost was involved in respect of the preparation, design, composition, printing, distribution, postage and publishing of the party advertisement? [section 3E(1)(a)(i)]
- 7.5.3 What was the reasonable market of any **material** used for or applied toward the party advertisement, including material provided free of charge, or below reasonable market value? [section 3E(1)(a)(ii)]
- 7.5.4 Was the advertisement a **joint party advertisement** [section 206CB], or a **joint party and candidate advertisement** [section 206CC]? (If yes, the costs can be apportioned based on coverage).
- 7.5.5 Was the advertisement published before the regulated period and continued to be published during the regulated period [section 206CA]? (If yes, the costs can be apportioned with the costs attributed to the regulated period counted).
- 7.6 Do any of the costs identified above fall within any of the election expense exceptions? [section 3E(1)(b)]
 - 7.6.1 The conduct of any survey or public opinion poll (other than pushpolling).
 - 7.6.2 Framework, other than a commercial framework, supporting a hoarding displaying the party advertisement.
 - 7.6.3 The labour of any person provided free of charge by that person.
 - 7.6.4 Replacement of election materials damaged in circumstances out of the party's control.
 - 7.6.5 Expenses, including running costs, of a vehicle used to display a party advertisement (provided payment was not made or promised) for the display of the advertisement on the vehicle.
 - 7.6.6 Allocations from the Electoral Commission of money for election broadcasting [definition of **election expenses**, section 206(1)(c)].

If yes, that specific cost is not an election expense.

- 7.7 Where an apportionment of election expenses is given in the return:
 - 7.7.1 the basis of apportionment is appropriate, and has been properly applied and recorded; and
 - 7.7.2 the information contained in the Party's return is known to be consistent with that of the Party's electorate candidates, or the undertakings of other entities involved in the apportionment included in the records.
- Where the Party received a broadcasting allocation for the 2023 general election Parts D to F have been determined by considering these questions and the relevant provisions of the Electoral Act 1993 (the Electoral Act) and Part 6 of the Broadcasting Act 1989 (the Broadcasting Act):
 - 8.1 Was the allocation used by the Party to produce, broadcast or publish election programmes on television, radio or election advertisements on the internet for the 2023 general election? [definition of election programme, broadcasting

costs, production costs and publishing costs, section 69(1) Broadcasting Act; definition of **election advertisement**, section 3A Electoral Act] (If no, advertising is not an allocation expense).

- 8.1.1 If the allocation was used for **broadcasting costs** was the placement on television or radio during the **election period** (from 10 September to 13 October 2023)? [definition of **election period**, section 69(1) Broadcasting Act] (the allocation cannot be used for broadcasting costs on radio or television outside of the election period).
- 8.1.2 If the allocation was used for **publishing costs** was the placement on the internet during the **election period**? (the allocation can only fund publishing costs during the election period. Parties can spend their own funds on internet placement costs before and during the election period and those costs must be declared as election expenses in Parts A-C if the election advertising was published in the regulated period (see 7.4 above)).
- 8.1.3 If the allocation was used for **production costs** what cost was involved in respect of the preparation, design, composition and creation of the programme or advertisement? [section 69(1) Broadcasting Act]. Parties can spend their own funds on production costs before and during the election period and those costs must be declared as election expenses in Parts A to C if the production costs are for election advertisements that were published in the regulated period (see 7.4 above)).
- 8.2 Was the allocation spent on any advertising that promoted the party and a candidate [section 70(2) of the Broadcasting Act and section 205EA and 206CC of the Electoral Act]? (If yes, the Party must report the total amounts spent on joint party and candidate advertising in Part E of the return and the percentage coverage provided to the Party and candidate. The candidate will need to report the value apportioned to the candidate as candidate election expenses and a donation from the Party in the candidate's return of donations, expenses and loans).
- 8.3 Was the allocation spent on **advertising that solely promoted a candidate** [section 70(3) of the Broadcasting Act]? (If yes, the Party must report the amounts spent on candidate only advertising in Part F of the return and the candidate will need to include the costs as candidate election expenses and a donation from the party in the candidate's return of donations, expenses and loans).
- 8.4 Has the Party reported details of all accounts sent by the Party to the Electoral Commission under section 80B(1) of the Broadcasting Act in respect of expenditure of the party's allocation? [section 206IA of the Electoral Act]. The Commission pays suppliers' invoices that have been certified by an authorised party official as payable from the party's broadcasting allocation. With the exception of internet advertising placement costs paid directly by the party (for example, Facebook promoted posts), payments are made to suppliers and no money is paid directly to parties in accordance with the requirements of section 80B of the Broadcasting Act.
- Any and all misstatements you have identified during the course of your assurance engagement have been adjusted in the final return.

- I have completed my own procedures, distinct from your assurance engagement processes, to evaluate the accuracy and completeness of the return.
- The return is free of any material misstatements or omissions.

These representations are made in terms mutually agreed between us, and to supplement information obtained by you from the records of the Party and to confirm information given to you orally.

Yours sincerely

Jennifer Marshall

Party Secretary